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ﬁg TREOBEBOSILHOKRES TERFDOHBEEILHNOKRES TEFEOBEBOEILHOKRES TREOHBEEILADKES
7 100kN/mM%#BZ 5 - -~ -|3mEBZD -~ - -| 100kN/m#%#8% % - ~ -|3mEBZD ~ -
s 1.00 | 0.00 ~ 4.52 56.39 | =h4 | 000 ~ 000 1.67 821 st 1.00 | 6.00 ~ 5.00 56.39 | =nLS | 5.00 ~ 5.00| 1.57 821
2 100kN/mM%#BZ % -~ -|3mEBZD -~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.08 76.22 | NS | 0oo ~ 608|179 940 st 1.00 | 6.00 ~ 7.00 76.22 | ThSY | 5,00 ~ 7.00| 1.79 9.40
3 100kN/mM##BZ5 | 1.00 | 0.00 ~ 081 11209 |3m%E#BZ 5 ~ -] 100kN/ %825 | 1.00 | 10563 ~ 1290 11209 |3m%E#BzZ% ~
s 1.00 | 081 ~ 859 100.00 | =nhst | ooo ~ 859|219 11.47 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 1290| 2.19 11.47
4 100kN/mM#E#BZ5 | 1.00 | 0.00 ~ 0.00 100.05 |3m%E#BZ 5 ~ -1 100kN/mZ#8z5 | 1.00 | 11.19 ~ 11.20| 100.05 |3mZ#Bz25 ~
s 1.00 | 000 ~ 7.79 100.00 | #nst | 000 ~ 7.79 | 2.03 10.63 st 1.00 | 6.00 ~ 1119 100.00 | =nst | 6.00 ~ 1120 2.03 10.63
5 100kN/mM#E#BZ5 | 1.00 | 000 ~ 234 136.45 |3m%E#BZ 5 ~ -] 100kN/ %825 | 1.00 | 10563 ~ 20.13| 136.45 |3m%E#BZ% ~
s 1.00 | 2534 ~ 1012 100.00 | =nst | ooo ~ 1012|272 14.24 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 2013 2.72 14.24
P 100kN/mM#E#BZ5 | 1.00 | 000 ~ 204 131.62 |3m%E#BZ 5 ~ -] 100kN/ %8825 | 1.00 | 11.48 ~ 1948 | 131.62 |3m%EiBz% ~
s 1.00 | 204 ~ 983 100.00 | =nhst | 0oo ~ 983 | 263 13.78 st 1.00 | 6.00 ~ 1148 100.00 | =nst | 6.00 ~ 19.48)| 2.63 13.78
- 100kN/mM##x5 | 1.00 | 0.00 ~ 191 129.38 |3m%E#BZ 5 ~ -] 100kN/mZ#8z5 | 1.00 | 11.89 ~ 19.48| 129.38 |3mZ#Bz5 ~
s 1.00 | 1.91 ~ 9.69 100.00 | =nst | 0oo ~ 969 | 2.68 14.04 st 1.00 | 6.00 ~ 1189 100.00 | =nst | 6.00 ~ 19.48| 2.68 14.04
P 100kN/m##x5 | 1.00 | 000 ~ 211 132.69 |3m%E#BZ 5 ~ -] 100kN/mZ#8z5 | 1.00 | 11.28 ~ 19.48| 13269 |3mZ#Bz25 ~
s 1.00 | 211 ~ 989 100.00 | =nhst | 0oo ~ 989 | 260 13.62 st 1.00 | 6.00 ~ 1128 100.00 | =nst | 6.00 ~ 19.48)| 2.60 13.62
9 100kN/m##Bx5 | 1.00 | 0.00 ~ 241 137.74 |3m%E#BZ 5 ~ -] 100kN/mM%i#82% | 1.00 | 10565 ~ 20.61 137.74 |3m%E#BZ D ~
s 1.00 | 241 ~ 1020 100.00 | =nhst | 0oo ~ 1020|273 14.50 st 1.00 | 6.00 ~ 1053 100.00 | =nst | 6.00 ~ 2061| 2.73 14.50
10 100kN/mM%#BZ % ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 398 49.86 | =nhst | 0oo ~ 398 | 208 10.92 st 1.00 | 6.00 ~ 5.00 49.86 | =hL4 | 5.00 ~ 56.00 | 2.08 10.92
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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